A EEEEERE B EA T E ARSI T REE AR BT o B R AR A L T BE R R
JH — DF 40 B8 A 4 b 7R BE R S B [ A —

B ilG w3

7 M G o SR A AS SR BT R S T 0 e RE SR A 0 R SR 6 B AR ME AT SERE SR
AT -

F13EEE] oo . g T A R R R g 0k o BELPRE AR AR —ER > 5 A B R
58 ) RE &5 1 S 4 g Oy

FL2F I8 o g iR P B I VT A AL Y U e > 2 B A S R Y 48 o S rp
I KG &5 62 )

[N | g o = SR B R o T e B ) MR R R R B AR R K
g > BBt » BRI > R RS > R
H A F 10 E 60

3 g SR > BIARE TR R BE AR BT R T B R AT K BE M AR B R )

[ =0 g 18 Mg

TRERE g AL 45 JE AR N 2 KR B R 22 JEUR I i () I LRI > B 9

WA= IR ] % S A Ah - B 0 7 2 AR AR ST 7 A O o
JR AR IR o E A RO MR B EL A 3 o B R T S B E R Y
R 2 WU IR T T A $E T O A T

[CFRI .............. i} AN > T E RIS E G Y 2 H 0 s 1
A E R BRI Y W SR BT EE o
WRAE A B P > & O O 28wt 78 W 30 1] 1) £ ) 4 2k B4R B R
Crgir = i N 7y

[ B A AR RG] . 8 B EERE WG TR AR 5 DU 2 B R
o R BT SE R 5 B o GRS MU W RN F A M R

[ H B AR (YY) & BB B f i HL P UCEE ) 2 A28 R I B R )R B Y
BB BT IR T B Gieseler B = U B BE 7K 1A
%

[CIF)............... 7 MR~ REREINE R - J5E J7 B A0 8 SR SO (E S
R R AR E R 1R PR B S BT A A 2 T A S Ol sk

32



A EEEEERE B EA T E ARSI T REE AR BT o B R AR A L T BE R R
JH — DF 40 B8 A 4 b 7R BE R S B [ A —

B fl§ w3

5.3 P
8 -0 i =
(R ERBIE] ...
TR oo
[ASHISR ) oo

3388 12 TR
(INFE A i 2 iR

JH I 3 o o ) 7 DO > D RIS UL T R R G o B R
A 5 &

i T BT T M A TR ) B Y A% S AR TR 5 T e AR
M TAC B | > DA AL f R (9 4 T 350 1l 2 B0 o A6 42 T A8 3
HR > [A] R AR A

(LT R M P R AR B A B R o PR e B R AR H R
B S B A% o I 2 D Ty M B AR T 65%

IR AR iR e o R AR E R o TG 2 B — AR
BEB R 5 VR (BRI 2y ~ FHEE I ~ FR IR R B SO B ) ot
B 3 73 75 7 A8 R

— R W A B AT SR A Y R R R
- B AL PEBI o DL R B 5 B I R 4 E AR EE A
B~ R AR v P A A 7 A A B AR DL

— S0 PR JRERR Bt AR R R SO P Y R Tl R BT (2 800°C)
AT B R AR e 4 U (P 1-9) B K N R
5 TR TR S R B iR

1511 i 52 46 5 A B B

27 {1 ik 22 45 € % B B

BiLE AR MO S e > (BR300 R > 6 L9 O R R

i

Tt 3y B i A ok AL AR AR e R A R A 2 VR (mT )
AR AE > SRR AE VS AR R il A 2y 2 FL GBS (fE k) 1y mT 98
Mo EERAERRES > MRBEREEH - WEE K
P Gieseler iz = ¥ Bl & 5 80

B o BNE D7 ZH A R O B W B TR O R UK
BB 2 A% P EE A 1 — U0

Er

KE EZE

33



A EEEEERE B EA T E ARSI T REE AR BT o B R AR A L T BE R R
7R — fif 400 A A A 7 R A g [ A | — -

B fl§ w3

NER-L ¥

IRERCNEI 1L A

(R ...

% i 7

[ R3]

HL 1R 8 5 70 (EURG %5 158 BUR bR K P 19 8 %
HL R 8 8 0 (ELIR FL AT 8 45 IR T 1 B R

R S5 P R 0 e AR o S A AL ) T I IR AR e SO R

7N
~H

A o S & B RE ) Hh S8 ok > 4 B A B R A
101 19 45 P

R RS e > B R A > HAMNBB B A K- S E
B e aamaaﬂ%m A8 — R 230 B 40% 10 K 4> o T
o (AR IRV 1) (EAK o EAL A& 1948 0 & 2k ok > Hoal
B o mfﬁfz% R E R — A AR R > M7ERE £
(B IEBR AN & E A R R

WERR I 2 AL JBE e 9 A 2 — o A TR A A
HLARBE Ry K I 2 - Tt

AEULRE s o SR EE I o BRI IR AR 0 1O MR AH AL
S AR

O

(SRR L

R A E T BRI OAR PR N S A T L Y
fh ik

R R REEEN RS EHEERNE )

Mo Bk b e R B T T [ > AU AE UKYE > B E R UKEE > P 5E
S PN B ORI B RS 5%

34



A EEEEERE B EA T E ARSI T REE AR BT o B R AR A L T BE R R
JH — DF 40 B8 A 4 b 7R BE R S B [ A —

B fl§ w3

[

7K 5 o

ISR 5T S

[FER )

[ YR |

KL L

[ 55 K

R RE FR A B rh R R ) B R 4
K L M AT AR O i ] 2 et

W I — MR N e L L B O A T 5 R R AR o MR
— B 7 AR AR M 1R W

JA DL 2 AR 5 00 R i A B A R e R o 2k
R Y ok B B — i U B B IR BR AR M A A 0 AR B 1Y
16 i R B AL AR E > AR - HE - BELERE
2 A AR AR A o~ A R0 0 I IR T B — A T4 26
R AR AR o AR Jol A B bR AR A B A

AT % HL SR 0 (0 3 ik = WY BEOR R A M B AL T S A A
or WO RE B > A 78 SRR Y JEAL T (% B A 22 5P 9 T 0 i
T 24 4 T ol 3 7K ) T B AR AR [ 43

IRAEEN I ER AR SRR BRI o b E 64 B R
Bz Rk > TR B R oK 8 R o B T3 AL A P
A B R A 45 %E 2 BB B BR AN

BE AR oy (T 248 A AL & W) SO MEE > S £ 4 [
A (G B 5 M E oy L

R AL B ) M (A TR BEAR R AT A AR
5 AR K

35





